
Exam style questions

Q1
This diagram shows a park PQRS.


PQ is 48 m long.


QR is 20 m long.


RS is 36 m long.


Angles PQR and RSP are right angles.


There is a path PR running across the 


park.


a)
Calculate the length of the path, PR





  (3 marks)


b)
Calculate the length of the side of the park, PS.



  (2 marks)

Q2




The diagram shows three places, which are on the same horizontal plane.


Windy Cragg is 5.2 km due North of Hill Top.


Walton Scree is 6.8 km due East of Hill Top.

a) Calculate  the distance from Walton Scree to Windy Cragg.

Give your answer correct to 1 decimal place.




  (3 marks)

b) Calculate the size of the angle marked x( in the diagram.

Give your answer correct to 1 decimal place.


  

  (3 marks)


The distance of 5.2 km has been rounded to 1 decimal place.


c)
Write down the minimum distance it could be.



  (2 marks)

Q3
Calculate the length of the diagonal AC of the rectangle ABCD which has length 12 cm and width 5 centimetres.

(4 marks)

Q4










Calculate the length of AC.








Give your answer in metres correct to 








2 decimal places



(4 marks)



Exam style question
Q1
The diagram is not drawn to scale.


It shows a ladder, BC, 8 metres long 

leaning against a vertical wall, AB.

The foot of the ladder, C, is 1.5 metres 

away from the base, A, of the wall on 

horizontal ground . 



a)
Calculate the distance the ladder reaches up the wall. 

  (3 marks)


b)
Calculate the angle, ACB, which the ladder makes with the ground.














  (2 marks)

c) The ladder is secured by a rod DA which is perpendicular to the ladder and fixed to the wall at point D and to the base of the wall at point A.

Calculate the length of the rod.








(2 marks)

